CIS 3362 Homework #4
Chapter 5: Classical Transposition Ciphers

Due: Tuesday, 10/10/06 

Note: This is a group assignment. Each pair of students should turn in one write-up in class on the due date. Both students' names should clearly be at the top of the front page of the assignment. Students may also turn in the assignment by themselves if they do not wish to have a partner.

Decode the following ciphertexts. Please use the CAP tool, and in your write-up, describe the steps you took and why you took them in decrypting the ciphertext. At the end of your description, reveal the full matching plaintext.

1) (Permutation) 
nilaetbceitvathelewieevvahctiohaeastnvenhartoewyydcnywaamaelhewlunfoearyieelbngertsedantzazezzzf

2) (Column Permutation) eeeogeoiaijmubiodittwuqlmneetegerutoiuowatiatbifgrtorhlilcyltfitpgnyoaaitlthieeostwoerwhnciscebnsgttsfdoolsynemhtobiltwetnffcueieduogoiarq

3) (Double Transposition) (Note: All five samples were encrypted using the same two keys. Both of the keys are the same exact length.)
Sample A

dhosdonaleanesvnwladrqxbltqframedstwspttlbdaoxfsdoeyiyyqatytuvgdnlmnxatritlytwraestewiuqnraxerolaewrlolonletowuhoexthiooiummshabaniiogghbxoeltdoqieuibeaeoufkolux

Sample B
raiarotgaodesenaycrutqxektyieeeogbvetlgaoysbaxgelwaeiayqohnmnrtstotrxrmehafetmowaetigofqhlsxsntehatmwvnntmeuneteaexuedegarsweimeieitprdwoxiteaboqevvoywuoiyortusx

Sample C
tpekmguuoedeeeieitnfdqxbahirterdayytlenasevmhxottitoilynsunauyrsevnaxeiuarsmoeyisttyaoiqaraxdyvcumlsdodwaaenaaaetexooteururobhobnygdorbdixeiucldqasvjpoedneawltix

Sample D

meurmebvetusayctmwaboqxiieiraioywotraoyrswwaexsenitecnntdwotsttgaegaxmnruedodesbagofiayqieextlggeleimlhlsneteoghafxuoisntowarutatprevvaroxetiektyohneaeyoretmehax

Sample E

scoymndnoosiosigweugoaqxbssrmngilysciqhegoyotllxiithgivdtnectixdqewyurtxnhitloopnqesoymonlateirxtaoittqarddeiounaedetmoxibaoatwaaeegogyknywqmiexgedqmebdymnftbetfeathdsx

